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Topic:- Child Development & Pedagogy (CDP)

1) Comorbid means: / BIHISS (FESWIAT) PT 3 B:

1. Tt describes a disorder or condition that may co-occur with another disorder or condition. / Ug Uh faprR

1 fRUY 1 9uf e g o fopelt 3/ fdepR a1 fRUf & 1Y g) Fehel 2|

2. A condition can appear independently and have a detrimental effect on performance. / aﬁ's‘ fufaq wd=

FT Y UHhe gl Gohdl § 3R YR R gIHeRS THd STd Jhd! ¢ |
3. A cognitive impairment can shorten lifespan. / I TH® BT SlfaaTd B DIl R Jahdl %I
4, None of these. / ET'FET q aﬂé '_ﬁofl

Correct Answer :-

o It describes a disorder or condition that may co-occur with another disorder or condition. / g Udh faprR

7 fYFS 79Ul BT 8 Sl fopdlt 8 fapr a1 fRUfa & Ty g Ipar g

2) What is the second leading cause of death in adolescence? / fo=IRTaRIT & HG BT g UHY
PRI T 52

1. Road traffic accidents / S IdTUTd W
2. Suicide / STHG T

3. Psychosis /ﬁﬁ?ﬁf
4. Drug overdose / ST ARSI

Correct Answer :-

o Suicide / ATHgdl

3) UDL stands for

./ Rea s fagaEu__ Rl
1. Universal Developed Learning /qﬁaﬁﬂm A

. . . o (od o d
2. Universal Dynamic Learning / ["1dH T STUHD SIBE

3. Universal Design for Learning / W SIS R A1




4. Universal Disadvantages of Learning / q\ﬁq{-f d fewedics s af

Correct Answer :-

» Universal Design for Learning / %ﬁd%lr A %\ﬂl‘éd PR AT

4) The meaning of gestaltis ./ NeeTee 31 3 - ﬁ?ﬂ %I
1. Excitement / SIS

2. An integrated whole / WQWUT

3. Perception / YR

4. Insight / Gﬂé@

Correct Answer :-

» An integrated whole / ?I'Q;Uf Qﬁw

5) According to Piaget’s theory of cognitive development, complex thoughts form during the

. e & SeATere [erare Rigid & oguR, sfea fiaR % dRM ema B
1. Pre-operational stage /Uﬁ-ﬁw ST

2. Concrete Operational stage /Hﬁﬂﬁmm AT

3. Formal Operations stage / Gﬁﬁmm SART

4. Sensory Motor stage /Hé'c?riﬂaaw

Correct Answer :-

e Formal Operations stage / ST Tforar it

6) According to Kohlberg’s theory, at what level does the child adopt rules? / aﬁw CATFAGK-J

YR, T fhy TR R fAa & iR g2

1. Universal ethical principle orientation / e Afae Rigid d'ﬂ,@lnldNUI

2. Post-conventional level / UY-URWNS TR
3. Pre-conventional level / Qﬁ-tﬂw T}
4, Conventional level / URARS &R

Correct Answer :-

« Conventional level / TRVIR® &R

7) According to Urie Bronfenbrenner system is the small immediate environment the child

%vesin./q&aﬁqam%aw, JOITel 98 BieT ST~ aararvl § foras a1 gar
|



1. Macrosystem / Ao IRey
2. Exosystem / Q?’@W

3. Microsystem / ATSShIFCH
4. Mesosystem / THIRCH

Correct Answer :-

e Microsystem / IS ehIRReH

8) What is used to determine eating disorders? / T & iR o fAuiRa s & fre & T
far ST 82

1. Weight index / 4R JThich
2. Weight mass index / HR gdHIq W

3. Body mass index / R IR A N EEdED

4. Body height index / TRR $aTs BGEAED

Correct Answer :-

« Body mass index / ¥ IR T {j\tlobicb

9) What term best describes a child’s difficulty in learning a new way to do a task he has already

learnt? / 98 US Sl U T= &1 TP T AT R A 31 aTelt HISTS BT Had 33T guiq
FRal 8, 9l 39 Uga 9 g A@rgen @2

1. Proactive interference / gfohd Eﬁéﬂf{

2. Retroactive interference / qﬁwﬁr gw|ay
3. Cue-related interference / Gbd-Taerd Wa'q

4. Semantic interference / Wﬁ E'Wfa'q

Correct Answer :-
« Proactive interference / Gfchd E,'E&}C[

10) What task did Piaget give children to understand their hypothetical-deductive reasoning? /

forarst = 9= Bt I Breufren- FRTHATHS 0 B THeM & o war o faar
1. Pendulum experiment / ﬁg?«n:r DT AT

2. Bobo doll experiment / CIC] 1;L'%TIT Eak*pinl

3. Visual cliff experiment / €Y dglq TN

4. Shadow experiment / STT TR

Correct Answer :-



« Pendulum experiment / elw BT TN

11) What does the theory of learning by Insight mean? / Gﬁﬁ (g191g9) & HTAH A A &

Rrgia o1 ardf Far 82

1. Learning which requires higher order mental processes like thinking, reasoning and intelligence. / SHfeRTH

¥ o foarR, ad iR gfgam okt 3= Sitre ARies ufsransii &) smaxgearl gidl 8|

2. Learning by trial and error where problem solving is characterized by repeated, varied attempts which are
continued until success. / AT 3R Ffe GRT TATH FH=1 Sg! T &1 fafia T gRT SR-aR g
HT U [IRIVT 5, STifch Toherdl aob oIk} Gl 6 |

3. Learning that occurs by observing the demonstrations given by an expert and imitating his movements. /

31T S Ueb faRio gRT fow T el 1 3 3R Ioh TER I bl Thel bR 4 BIell B

4. A type of learning or problem solving that happens all-of-a-sudden through perceiving the relationships
of various parts of a problem and understanding the situation. / T YR o HTTH IT THIT B g
HT S Tt T & fafie fowedi o Haell ol wre iR 39 T &1 gHeM & H1em 9 S
gl |

Correct Answer :-

» A type of learning or problem solving that happens all-of-a-sudden through perceiving the relationships
of various parts of a problem and understanding the situation. / Ydb YhX & SHTEATH 1 99T B 8
BT S Tl Taen & fafire foedl & Heiell ol wre iR 34 Rl &) gHe & e 9 s
G

12) Name the disorder that causes lack of attention. / 39 fad®R &1 AW EGILY S ST Bt B BT
R g1 82

1. Dyslexia / JIHABR (W'%HTIT)
2. Dyscalculia / %@Wg"—m

3. Dysgraphia / feauftear

4. ADD/ADHD / TSIS! /TSIT=rst

Correct Answer :-

« ADD/ADHD/ Qg|g| /Qélqaé

13) Which model, proposed by Albert Bandura, explains human functioning and personality as
caused by the interaction of the behavioral, cognitive and environmental factors / 3T TG GRT
TRATAd DI A1 ATSd HAER, IS 3R Taiavoiig SRST & WRER a1 & YR W AT
ST 3R AfHRTE P ARSI HXaT 32

1. Self-efficacy / STH-THTGHTRT
2. Reciprocal determinism / IR fFafaarg
3. Trait theory / Hfddd Rigid



4, Sublimation / 3 AUTdh

Correct Answer :-

» Reciprocal determinism / IRR® fAafddrg

14) Which of the following promotes the recurrence of a behavior? / Fafafeadd s U

AR B! TR ) 9¢1a1 T 32
1. Reinforcement / Q:WSYT“I_"[

2. Latency / YUl
3. Chunking / T

4, Punishment / G

Correct Answer :-

» Reinforcement / W:[

15) Which of the following theories focuses on processes involved in perceiving and handling

information?/mﬁﬁﬁﬁmmmﬁﬁm ﬁm\ﬂﬂwmmﬁ
i ufspareli R Siga 82

1. Information-processing approach / W—W SUNTH
2. Social-contextual approach / HMHTTh-H T SURTH
3. Socio-cognitive approach / QTS TS STNTH

4. Psycho-sexual approach / TARe SUTTH

Correct Answer :-
 Information-processing approach / WT-U@'TCITWUT SUNTH

16) Which of the following is one of the components of ideal mental health according to Jahoda? /

fFrafafea & & o9 TEiel & AR el AFRIS Wed & 9e@] 8§ 3 U9 82
1. Dependence / fFRaT

2. Separation from society / THIST I 3¢ GIHT

3. Freedom / Tl

4. Positive attitude towards oneself / T & Ufd GBRIED SPBI

Correct Answer :-

« Positive attitude towards oneself / T8 & Ufd IHRIHD m



Which of the following statements best describes the Zone of Proximal Development? / frafafead

A D T HYT THUN AP & &F BT I 33T i HIdT 22

1. The difference between what a learner can do without help and what she or he can achieve with guidance.

/ U Rrenfife=T ggradt & o1 HR Ihdl/Tdhd! § 3R ARGRH & IIY-T1Y a8 T gIRIS B Jobdl/
gt 8, TP oF BT 3R

2. Academic, Knowledge based tests gauge the intelligence. / PTG H, T STUTRT TRIeon o §@Iﬁﬂ
&1 Udl Il 5 |

3. The child develops the required skills on his/her own. / ST 30 GH TR 3{TIRID HIVA [AH A BTl

g

4. Discover everything on own. / ¢ $& U RIS

Correct Answer :-

« The difference between what a learner can do without help and what she or he can achieve with
guidance. / T FR&miffemT Teradr & o1 R THdyTH«l § 3R AN & IIY-T1Y 98 1 eI
PR Ihd/Ihdl &, TP d1F BT 3R

18) Which of the Thorndike’s laws emphasize preparedness? / %ﬂm BT PI-91 fAgw darial
W SR a1 8?

1. Law of Exercise / 3% &1 g9
2. Law of Effect / UHTG &1 FaH
3. Law of Multiple Response / §g WidehaT o1 fHTH

4. Law of Readiness / d@Rdl &I MIH

Correct Answer :-

« Law of Readiness / IRl &1 99

19) In scientific investigative learning method, ./ aﬁTﬁﬁ? \?rlﬁ'\‘:l' UTHTHD SATERTH Ui ﬁ,

1. children discover the scientific idea completely. / CEICAEEIRCACEIR 11'\9[ e T gd1 Ioid B
2. children work without guidance. / = qRTGRA & {91 &1 HRd %I

3. teacher guides the children completely. / e s=al &1 URITHI e HRaT g

4. teacher gives inputs when needed. / fRrefen S L{(_S:I U 31Yc gl

Correct Answer :-

« teacher gives inputs when needed. / fRrefen S L{(_S:I U 31Yc gl

20) A child is watched carefully by his teachers because his friends are known to cause trouble, even
though the child has never done anything wrong. Which of the following is descriptive of this? / T



T PI I R gRT = A W7 SIdT & TP SHP Sl B URRATHT BT HBIROT ST SITaT
2, a8 7= A 3t po Taa 81 a8 Fufafee # Q o919 a1 59T aufares 82

1. Algorithm / QQ_"’“IQ?—IT[

2. Transductive reasoning / URITH GE2

3. Representativeness heuristic / 3{ TG %W (Wlﬂﬂ-lﬁﬁ)
4. Anchoring heuristic / JHdY %ﬂh‘% @Huﬁﬁ)

Correct Answer :-

« Representativeness heuristic / 3{ e %W (Wlﬂﬂ-lﬁﬁ)
21) Who are backward children? / ﬁ@@j/ dfea ﬁﬂ'ﬁ:{%’?
1. Slow learners / HG SifrTHedl

2. Delinquent learners / [dc&for STl

3. Handicapped learners / feaam siftrmaear

4. Exceptional learners / STHTYRTT HfF e df

Correct Answer :-

o Slow learners / HG SiferTaRdl

22) The last stage of creative thinking is : | TEATH® Fia- &1 3ifad TRor %:
1. Incubation / HHIIA

2. Verification / JdTU

3. Preparation / SRIR]

4. Evaluation / JeTh

Correct Answer :-

» Verification / JATYq

23) The Dalton Plan was created by: / STeTH I aRT m 11'5‘ A:
1. John Dewey / Gﬁ?ﬁg

2. Francis Galton / Wi fieed

3. Francis Dalton / PIRIY STeeH

4, Helen Parkhurst / %?F‘T W

Correct Answer :-



e Helen Parkhurst / %@I:f W

24) A student should be allowed to learn in the mother tongue as it makes easy. / Th BT G|

AgUTT & W # srqufa o o sifeag . @) s SATaT 81
1. Comprehension / S1¢f

2. Perception / Hag

3. Creation / XTI AT ¥

4. Reproduction / Yol

Correct Answer :-
o Comprehension / Y

25) More Knowledgeable Others and Zone of Proximal Development are the main principles of

theories on cognitive development. / e TP RY iR Tiiuwy fae g & ?33[
UMD faerE W fsial & g1 Rigia 71
1. Kolb’s / Plesl
2. Piaget’s / BRI
3. Dewey’s / 34

4, Vygotsky’s / CIEIRS]

Correct Answer :-

o Vygotsky’s / aTi"'n—m"ﬂ'ﬁ

26) A large number of schools do not have a provision for teacher in the school. / SiftreiwT

Wwald_ s sruau T gl
1. Extra / 3ffaRad

2. Special / fafRry

3. Co- class / Tg-fRuafm

4. Assistant / dgldd

Correct Answer :-

e Special /ﬁﬁ]’g

27) are the basic needs according to Malow’s Hierarchy of needs. /

AT & URUN & UGIHH D1 MaaHdl F AFHR A sRewd gl
1. Safety and Esteem /ﬁ?&ﬂ@?&ﬂﬂﬂ




2. Physiological and self-actualization / YRING 3R TH-AY

3. Belongingness and love needs / Iy 3R WR &Y STagHdl

4. Physiological and safety needs / JRIR® 3R GR&M P ATl

Correct Answer :-

« Physiological and safety needs / TTRIR® 3R YRE&T B aRTHAT

28) Which of the following can a teacher not exercise to overcome misconceptions? / Th

R8P TAd AAYRINSA I g PR & o 390 I fHadT gagR Tl B Jpar?
1. Immediate feedback assessment approach / deb el gfafear ELFCIW %’@EI);TUT
2. Self-directed learning / 3{TH fAeq § dian

3. Quiz style assessment both before and after a unit / T ng I tl%@f 3R dlg T U QAeit o1
H™ib

4. Flipped classroom approach / IPSEEZ I EEIL

Correct Answer :-

« Self-directed learning / 3T& FAGRH & WRg1

29) Which of the following theories is also known as modelling learning theory? /

fFufafaa o A f5a Rigia o ufesguiais s Rigia & = & ff S irar 82
1. Developmental theory / fd&TTES (Saciudcd) iR Rigid

2. Social learning theory / TTHTISID TETH Rygid

3. Transformative learning theory / ZIAhIRATCT fETH Rigid

4. Insight learning theory / 3fAEM¥ (394Tge) 3iftmH Rigia

Correct Answer :-

« Social learning theory/ﬂ'lﬂ'lm 3T Rigid

30) Thinking most importantly involves: / o< & Ta® Agcyul dR I F1 ARG a1 8 ?
1. Aptitude / AT

2. Memory/@{ﬁf

3. Reasoning / LC3
4. Attitude / 3TYgFRT

Correct Answer :-

o Reasoning / LC3



Topic:- General Hindi (L1GH)

1) #I3 W THId Faa ve quwr 981 gl 81 I g #) g B A e wrar 8 o agayf @) ok
o IR U W1 9% | oy T § S 98 & 3raur gU gU Id & SS9 gW Il Fed 31 TP IR WF g9
ot gt W faorg e 7 @ € 91 70 UE A FEl ifw om 9gd § | Alwdad @1 gt gHifaar
fFrafafEd §: snuR TaR FA F) g, AR @) g, DG Pt oIS AoTgd BIATI ST T =T B
ST ST Gl BT AT BT ugar g1 3t fay &1 o Ay fvan A 9 sigar 81 gFan &
P A dipda @ g faea e 31 39 ¢ F U g @ fF fr @i A v Aiedite weR
TETA B Alhda BT YR dUR fHar 9| T F1 | g0 AABaiiAD IIBR B SWISHT g1, JAT
B WBR $ AR F g7 3@ g1 SR T WA Y T RIMGAT BT §1H I AUTE THBT DT IGT8R01
Bl awar g1 3t gTe ab AuTa W IIeTa g3 BT UTI 3T AUTH H Aipad o | Afe AR B et iR
gmmﬁﬂgaﬂaﬁﬁmﬁﬁaﬁmaﬁ%lwmmamm%ﬁﬁmmmmﬁaﬁﬁ?ﬁ
FERE]

TR R Adad # faar $t gl gl 31 39®T Aaad @ f 5t 321 & &% & & Awaifs
WHR F Fayd Rigial B TR HAT 3R ITP YHTT B THATS P g3 99 3R S/ B 8§ IIT 9 UgarT|
g TRt et @ siftre At we -, WY & g 3P1s $) Tudlg & yHa § a1, afgarnsit ik
AR Pt GRIYRT A w151, 3fe faar Ft gdt & Ierexv §1 39$1 98 vaas M P sud o0
Pad U g o Awaite uihar A W R o 9@ | URd 3R ket 99 Sifliear 331 ot At TR @
T HX 3B ¢ | URa | et oft gurer & 5 T fUrse of 7 fomen! vorifas wifeq 18t fore ord 81 emet
W} qaR & $© T URA FT TRIYRT I I 08 IS 81 UM 71 T 99 didpad & R 3t gt &
ISTERT 8 | Ahaa P! TGRS dP Holgd H P Gldl BT JTHAT 8 Albdd Bt ST USdl 8 | THBT Adad
? derda @1 uferareil iR TR ® Heigd HeAT

ST TRl F UgH - D T U= T &k qarsy|
Y : ABAIAD AT IGRIT S Y& HTI HT§ ?

1. Had AlBaT Pl G BT B TR P g M

2. Iugad gt

3. Had AIBdAS WRBR & AU RISl B A HRAT

4. HAA IRBR & YHTF B THTS! & & I db Ug

Correct Answer :-

- Sugaa

2) HI3 ot gl o T THAT T8 gelt 8 1 S T B I BT A 3 Sar @ ot agayyf g i
o IR uraT W1 9% | FoRT T § 3R 9gA & 3R gU §U Id & 99 gW YAl Hgd 8 | TP IR 99 g9
et gt WR faorg T 3% A € o1 59 Ugd A FEl TS W ggd § | Awad Bt g gAlfaal
fFrafafEd §: snuR TaR F 31 g, AR @) g, e Pt oIS ToTgd BT ST T =0T B
ST ST Gl BT AT BT ugar g1 3t fay &1 o Ay fvan A @ srgar 81 gFan & o
Pl A diwaa @1 gl faaea ae 8139 330 & Ut Al @ fF fha avE I U diedite WeR
TETA HRP ABda BT YR AR fHa1 T | THT H | TdUM S@ABdiiAD TROR B STTST ghTT, AT
B WBR & AR F g7 3@ 1 SR T WA Y T RIMGAT BT §Tt I AUTE THST DT ITeR01
B gwdr g1 3t gTe ab AUTA W ST G BT ATI 3G AUT H Aipad o | Afe AR B et iR
gmaﬂﬁgaﬂaﬁaﬁmﬁﬁaﬁmaﬁélWﬁwmﬂm%ﬁﬁaﬂmmmﬁaﬂﬁ?ﬁ
SERGE]

TSR R @dpad # IR & g et 81 391 aad 8 & f$ft T & = & & Awaie

WHR F TaYd Rigial B TR HAT 3R ITP YHTT B THTH P g3 I 3R S/ B 8 IRIT 9 Ugar|
g TRt et @ siftre At we =, WY & TR 3P1S $I Wudle & yHE § a1, afgarsit ik
STIIBIP] DI GRAYURT A S, 31 IR & gdt & I 1 3971 98 Haas N 2 fr sud o0




PHad T g o Aedite ufshar 9 W i 91 9o | URd 3R SAReT 9t siftrear &= omet g3t gt &1
AT FR 38 8| YRa & 3nft oft gurer A #3509 e ot § ot veeifas wife 8 fra uis 81 emw
W} gtk & $ TS0 URT It TBIYRT A T TRE I 81 TR §1 A 94 didpad & faar a1 gt &
ISTERT 8 | Ahaa DI TERTS aP Hoigd B I GAldl BT JTHAT &% Abdd St ST USdl 8 | SHBT udad
? dida @1 uferansil iR TR & Hoigd HeAT

ST TR P UGHR 12 IR T U= $T Sk ga1s¢|
WY : SUTGTaR AT derea & frwast gk g1 82
1. T I

2. faER i

3. AR Bt

4. JAR &1

Correct Answer :-

. foaR &1

3) ®13 W T Faa Th FuAT T gl ¥ 1 S THE S g B A o Sirar @ & wgwaquf g ok
R IR uran < 9% | o THwn ® oM 9g+ & 3awR QU gU EId € ¥ 89 A $gd 3 | TP 9R 99 §W
ot gt W= faorg wre &% da € o) 59 Usd | w5l if¥e 3 ged € | idad Bt g gAifaar
Frafafed §: snuR TR = 31 gHd!, R 31 g, adhad St oS ToTgd BT ST T =0 B
ST ST Gl BT AT BT uar g1 3t fay &1 v Ay fan s 9 sigar 81 g
Pl A dwdaa @1 gl fiaga e 8139 320 & i gl 3 fF fha 9w |t diediite WeR
TBTd TP Alhda BT YR dUR fHar 9| T H1 | IdAH AP aiiAd IRBR B SWISHT g1, JAT
B PR b FUA0T A g¥ 3G G 3R T WA AP B RITGAT HIAT SR | AU FHDBT 35T IQI60T
B gPpar g1 3t 8T a9 AuTe A IS g3 HAT UTI 3T AUTH | Aipa g | AfbT arnl B sreal 3w
gmmﬁ%mﬂﬁﬁmﬁﬁaﬁmmﬁ%lwﬁﬁmaﬂﬁ?ﬁﬁa%ﬁlﬁaﬂmmmﬁﬁﬁ?ﬂ
< T 31

HTETaR WU Adad # fawrR &t gt g1t 81 9@ Aaad @ f f5aft T & &2 & & Awaife
WHR & Yayd RIsidl & an] HAT 3R TP UHTT Pt U & g3 91 3R I $ 8% IIT 9% UgaH|
T WMt e St it e Ue ST, WY & g SHIS B Wualg & YT § a1, afgens sk
ATHRIH] B GRIURT J w151, 3fe faar #t gdt & Ierevv §1 39$1 98 vaas N 2 F sud o0
PHad T g1 ol Aiwditae ufsear 9 W i o1 9o | YR 3R SAReT 9t siftrear 31 3ot g3t gt &1
ITAAT HR T8 &1 URd H 3ot oft gomer # & o9 o ot € e woifae wfed T8 fira uig 81 e
Wt gaFR & $© TS0 YR B! TBIYRT A T @18 I 781 U &1 T 94 didbds & fawR &t il &
IaTEXUI | WD DI e aP Toigd B B FAldl BT FHAT 8% Albda B BT USdT ¢ | 3qBT Adad
? dida @1 uferansii SR TRITH &1 Hoigd HeAT

ST TR B UGHR A T MY G BT Ik Taq1gy|
Y : APad It G gfaal 71 82

1. Had faAR B Pt

2. HIA YR TIR HA Bt

3. Had QBT DI ofg Holgd B B

4. Iudaa quft

Correct Answer :-

o S Tl



4) 31 7t g Pad T THET T8 1t 21 IW THET B g BT A AT ST § S Hgwyut 8 iR
o UR U o 9 | Ry T § 3 9gA & 3raur gU gU BId § 39 gW Tl Fed ¥ 1 TP 9 Wd g9
ot gt UR faorg wred % @d § 1 59 Ugd A Bl 3IfU® T 9gd § | didpad Bt g gAifaar
FrafafEd §: snuR TR F 31 gHd!, R 31 g, G Pt oIS ToTgd BT ST T =01 B
ST ST Aol BT AT BT Ul 21 3ft fay &1 v FiuTs e diaa @ argar 81 g & 3@
P A ddda @1 gl fAaga e 81 39 320 & T g 3 fF fra 9 |t diediite WeR
TETA HIP Abda BT YR dIR fHA1 T | TAT HIA | TA0 SABAIAD IRBR B SWIST gHTT, JT
B WHR $ AT A ¥ @1 1 SR TS WA Y P RIMGAT HAT §I1H | AUTE THST ST I8
g aar 21 3t gTa a% AuTe | e g1 BT ATl 3 AUTd A Aibad 7 1 Afp Al B sigal 3k
?ngﬁmﬁﬁaﬁmaﬁ%lwﬁﬁmaﬁ@w%ﬁlﬁaﬁmwwﬁaﬁﬁ?ﬂ
< 1 31

TTETaR R Aidad § fawar &t gidl gidl 31 39T 7aad @ fo fHedt 31 & &v & ° Alwdifs
WHR & Yayd Risidl & ar] HAT1 3R TP UHTT Pt U & g3 91 3R I F 8% IRIT 9% UgarI|
T = et @Y Sifires TR UeT 31, WY & g1 IPTS B WualG & YU B @, afgarsit siv
ATHRIRT B RIURT F w51, 3 IR Ft gidt & Ierevv §1 39F1 98 Aaas N 2 P su I o0
PHad T g o Aedite ufshar @ W R/ 91 9 | YR 3R 3AReT 9t siftrar 3= omet g3t gt &1
ITHAT HR TR &1 URd H 3t oft gorer # #¢ O9 s ot € fore! woifae wfea T8 fire uig 81 et
W} gk & T T URT Bt TBIYRT A T TRE I 81 TR 81 A 99 didpad & faar &1 gt &
ISTEXUI § | AHaT DI TgRTS aP ToIgd B B FHldl BT AT g Abda Bl BT USdl ¢ | $ABT Haad
? diedd F) ulpareli iR IR S woigd BT

STIE TR T UgHR Y TS T U BT I& 915y
Y : URd # anft oft o e s vl & wan 1) fire wran/urs @ 2
1. oo wfad

2. STH A HIS Tl
3. 3ffes TaTeA
4, TS FHE

Correct Answer :-

o o fad

5) &1 W T Faa Tb T T Bl B 1 S THE DY AN BT A o Sirar @ & wgwayef g ok
R IR uran 1 w% | R THw § 3 9g1 ¥ SawR U §U BN € 99 §H YAl Hed &1 U aR o9 g1
frlt gt wR faorg wre #% ad € o) 59 Usd | FEl if¥e 3 ged € | Aidpad Bt g gAifear
FrafafEd §: snuR TR F 31 gHd!, R 31 gHid, aAhad Pt oS ToTgd HIATI ST T =0 B
mmgﬁﬁﬁmmmmélmﬁﬁ%m@ﬁuﬁ%@n?ﬁwﬁm%lgﬁm%ﬁﬁ
Bl Aiwdd @1 gHId fAagpa e 81 37 320 & urd gk § 7P 5w 9w 9 e dedilte wer
BT PP AIpdd BT YR dUR fHar T | TG H1 H TAUH AP AiiAD IRPR Bt SWTST g1, AT
B WHR & AT A ¥ 3@ g1 SR TS WA 1Y P RITGAT HAT §IAE | AUTE THST ST IaT8R0T
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gmmﬁ%gaﬂﬁaﬁamﬁﬁaﬁmmﬁ%’lw%ﬁmamm%ﬁﬁmwﬁuwmﬁaﬁﬁ?ﬂ
I TR

STETR T diepda § e &1 it g1dl 8 | $H1 daerd ¢ fob {6t 32 & &= & A Aepaitie
WHR & Yayd Risidl & ar] HAT1 3R TP UHTT Pt U & g3 I 3R I F 8% IRIT 9% UgaHI|
T = et @t Sif¥es TR UeT 31, WY & g1 IPTS B WualG & YU B ar, afgarsit siv
AR P RIURT J w51, 31 faar Ft gdt & Ierevv §1 39F1 98 Haas N 2 P sud o0
PHad T g o Awditae ufshar 9 W i 91 9o | URd 3R SARST 9t siftrear 3= omet g3t gt &1
T HR TR &1 URd H 3t oft goer & 9 s ot € fore! weifae wfea T8 fire uig 81 e
W} gk & T T URT Bt TIYRT A T TRE I 81 TR 81 A 99 dipad & faar @1 gt &
ISTEXUI § | AHaT DI TERTS aP TIGd B B FHldl BT AT g Abda Bl BT USdl ¢ | FABT Haad
? diedd F1 ulpareli iR IR S Woigd BT

SWid TRV FI g 2 T T ¥ $T I« AT

wy : o 3= & A Y | 39 =0 Y wgm gHifoar | @ 2
1. $Id AlbdiiAed AR - Bl

2. HIA AHAIAD YR TIR HIA Bl

3. Had AlbdiiAdh TRDR IgTd B Bl

4. Iugdaq quft

Correct Answer :-

. Sugad ot




16) §4T ST AR quf Ht TS, TSI BT R TS

D1 TR BT PR g3 R & I fv ug=n

ISl AE BT Gl I BTl dP TG ST

ol B ave faerelt o1 fezmeli # war I

Y quf & ARG T foret wor & WR

St 9T P ARG ATHAT § IIGH T HORR

S @ YEHR, R TRDR o BI farar g

St uTeit a9 R Y EE o faafirarar 8

3R 3TYTE & Ugd fad & UYH 39 &1 |

T8} FAWR P 1T B, PG F T
TGAD! &1 DY I

IUYT U= Bl USHR A1 IR M ardl U=RA $T Sk garsel
W=: aui & T IS e 58 wron @ off W e §2
1. Sl I

2. T Bl

3. AR DI

4. Upfa Uil &1

Correct Answer :-

. TPl

17) &a1 BT R aut it ISt Fret &1 R gs=n
P! TR BT FIHR g7 R & 97 fie us
IuS! T BT W B BT TF qER IS

@l o1 avg faerelt &1 fexmsif & waw 31

q 9ul & A T ! wor @ wR

St 9T F AT ATHAT § IIGH T HORR

i YT IR, eR TRB? o bt fYerrar &

S Urt 9o UR 7Y St ferarfiremar 3

3R 3TYTE & Ugd fead & UyH 39 &1 |

I8! g ARIF 37aT 8, FIfere & 79 H

q P &1 B &1

IuYed U= B) Ugh? 19 YD WM 9T U= $T Sk Ja3¢|
UTT: 3T A &1 Gy f6d B A a1 82



1. RIRR
2.qRq
3. gHd
4. o1

Correct Answer :-

18) §4T HT AR quf Bt TS, TS BT R TS
HEl TREH BT WP gR R & U R usn
ISl A BT Wt P BT TP T8 IS0
ol B @ faerelt 1 fezmeli # war I

Y quf & 3G T foret wror & wWR

St AT P ARG ATHAT § IIGA T HORR

il Y@ @D, YRl TRPT o B fremar @
St UTit 99 R Y ET o faafirarar 8

3R 3TYTE & Ugd fad & UYH 39 &1 |
T8} FAR HfF ITaT B, PR F T
TGFP! &1 DY T

ST U Bl UgHR -1 I 9 1d U= $T &R qarsy|
w: IRy fe=meit # faerelt 5t awedt g2
1. I I RE |

2. Ui Bl ARG |

3. Uphid P! HIU &bl dRE |

4. SIY egolTg eI |

Correct Answer :-
- ORY T <RIl €|

19) §4T H1 AR quf B TS, TSI BT R TS

P! TR BT B g7 R & IR fibe gs

ISl TG BT Gl I BTl dP TG ST

ol B @ faerelt o1 fezmeli # wer I

Y quf & ARG T foret wior & Wi



il 1% B ARG ATl § ATGd g9 PORIN

T YT TEHR, YRl TRBR 5 B Faenar &

St Ut 9ot IR Y EY ot forafiarar 8

3R 3TYTE & gl fgad & UuyH 59 &1

TG gAR i 3iTa B, P & WA A

TGAP! &1 B T

ST UL B! TgHR 1 IS 9F a1 U= $T Ik qarsy|

U 3R HHY R IR A g1 A HaH SATGT I DI gIaT 82
1. e

2. YRPR

3. ASIGR
438

Correct Answer :-

20) &1 F1WR aui Bt T, TS F1 AR v
P! TR BT B g3 RR & I fv ugn
IASI AEt BT Gl I BTl dP A 6T

@l Pt ave faerelt o1 fa=mai # wer o

3 quf & 3ARE T foree wmor & wWR

il 1% B ARG ATl § ATGd g9 HORIN

Sit 4@ EPR, URell TR o B Fyarar @

St Ut 9o 1R Y EY ot forafiaran 8

3R 371G & Ug fdaw & UYH 39 &01 §

B AR S 31T B, PG & 7 A

T AP &1 B AT

ST UL B UgHR 1 IS 9 a1 W= $T Ik Tarsu|
UT: 91Gd P TR Pt Y fd ave gt 82
1. 3T Tl S 1 |

2. SHH S B |

3. oY ¥R Ut

4. o1 RR & SR g o1 PR I3 ol |



Correct Answer :-

. O RR & FWR TS HR IR B

21) a1 &1 AR aui &1 ST, A1 BT R T

HE! TR 1 9T gR R & e fhR v

ISl A BT Gl I BTl dP AR ST

@l o1 avg faerelt &1 femaif & waw 31

Y quf & ARG T Foraay wior & wR

W ATIF B ARG ATHAT § qTEd T BRI

i YT IR, eR TRB o bt FYyerrar &

S Ui g OR 3TY Y o faerrerar 3

3R 3THTE & gl fad & guyw 59 &1 §

T8 TAWR AP TaT 3, Piere™ F w4 §

T GHD & X T

IuYed U=l B Ugh? 19 YD M 9T U= $T Sk Ja13t|
TH: ‘3R YT & Ugd fGawd & WU 39 &1 §' &1 Ufagiiae day fead g2
1. A &1 SR Y

2. AFGA DI gaT g

3. Od b o

4. DTG DI Pid Augaq A

Correct Answer :-

o DIIG B Hid Aagaq

22) T F1 R Ui 3t I, TS F1 AR v
P! TR BT TIHR g7 R & 97 fibe g
ISl A BT Gl DI BTl dP AR ST
@l 91 avg faerelt o1 fexmaif & waw I
3 9l & I T forret uror 9 Wi

it 1% B ARG ATl § AT g9 PORN
i T TEHR, Rl TR o H1 fyarar @
S Urt 9o UR $TE St ferarfiemar 3
3R 3TYTE & gl fgad & UuyH 59 &1 §
TG gAR i T B, PG & 7 A



T ISR &1 B T

ST Ui B UgH 19 UD WH 1 U= $T Ik qargu|
U: "SI’ Xeg | Hfd BT T d1UY 82

1. el fhq TR auf

2. Ya e

3. AIS-HE1S

4. U1 H I arelt i

Correct Answer :-

. B! b AR au

23) §91 P AR qul Bt FS, TSI BT R g5

HEl TREH BT WP gR R & Ry R usn

ISl A BT Wt P BT 9P T8 IST

ol B @ faerelt o1 fezmeli # war S

Y quf & 3G T forat wror & wWR

St 9T P ARG ATHAT § IIGA T HORR

Sil 4@ @D, YRl TR o B fremar @

St uTit a9 WR Y ET o faafirarar 8

3R 3TYTE & Ugd fad & UYH 39 &1 |

T8} gAR P ITaT B, FIREE F T
TGAP! &1 DY T

IuYad U= B Ugh? 19 YD 9 9T U= $T Sk Jast|
UR: Bfa A fFar 3t gaan arae velt S i 3 22

1. Fifep fpam 3R =T ufs BE §

2. Fiifds ATqP BT a1 4 HY B

3. 1% frar uehued g €1

4. T P SR AT THR TIGH! b1 3R & B ¢ |

Correct Answer :-

. i fHaM 3R T SUTM STeell Bl 3R @d 8 &

24) B4l 1 9k a9t $} S}, st &1 AR v

HEl TREH BT WP g2 R & U R usn



ISl 7 BT W B BT TF qER IS

@l o1 avg faerelt &1 femaif & wew 31

} auf ¥ oA T=a s yior & Wiy

St 9T $ AT ATHAT § IIGH T HORR

i YT IR, eRel TRB? o bt fYerrar &

S Urt 9o UR $TE St ferarfiremar 3

3R 3TYTE & Ugd fad & UYH 39 &7 |

TG FAWR U 31T §, PG & 7 A
TGP & X T

IuYed U= B Ugh? 19 YD WM 9T U= $T Sk Ja13t|
u=: fra ymar e W da o w1 wear 82
1. AGR M &

2. fRgT T 8|

3. Sil-dls HgTd PRl 5 |

4. YIS BT B

Correct Answer :-

. S-drg AgTd eI B |

25) §91 F1 9K a9l ot I, TS F1 AR
P! TR BT B g7 R & 97 fibe g
ISl AEY BT Gl I BTl dP A ST

@l 91 avg faerett o1 fezmaif & waw 31

Y 99t & ARG T Foraa wior & Wi

il 1% B ARG ATl § AT g9 PORIN

il @ IEHR, Rl TRPT o B femar @

S Ui g OR 3TY Y o faererar 3

3R 3TYTE & gl foad & gyH 59 &1

TG gAWR i 3iTa B, Fifere & 7 A

T GAD! & BT 11

IuYed U=l B) Ugh? 19 YD I 9T U= $T Sk Ja3t|
UH: §9 Ffadl # Bfd 7 ‘gawR’ {$A $81 82
1. IR HI

2. fr g B1



3. SR &I
4. fFo B

Correct Answer :-

. fPaA @

26) a1 &1 9K qui @1 ST, S| BT AR v

Bl TR BT PR gR R & I v g

ISl At BT Gl PI BTl dP A 6T

@l Pt ave faerelt o1 fa=mai d wer o

3 quf & 3ARE T forees! wror 9 wWR

il 9Td® Bt ARG ATl § qTGd g9 HORN

Sit 4@ TEPR, URell TR o P FRyarar @

St UTi 99 WR Y ET o faatirarar 8

3R TG & Ug fGad & UUH 39 &01 §

B AW S 31T B, PG & 7 A

T ISP &FHT B AT

ST UL $1 UgH 4 [P WM a1 U= $T I«i¥ qa1su|
U §9 Fiadl § A & I e IR fhaat g=it &1 qui= forar man 82
1. T gadl Bl

2. Th & Bl

3. T favgl ot

4, U fb g Bt

Correct Answer :-

. U% fpam &t

27) 41 P19k auf & 1S, st &1 AR g
HET TR BT STHY g¥ R & ur fb ge=m
ISl At BT Gl I DIl dP A 6T
@l Pt ave faerelt o1 fa=mai & wer o

3 quf & 3R T foree! wor & Wi

St 9Tda® P ARG ATHAT § IIGH I HORR

St 4@ EPR, YRl TR o B fyarar @



St UTi 99 WR MY 5T o faatirarar 8

3R TG & Ug fead & UyH 59 &0r §

I5 AR SHfire 37aT 8, PIferar™y & 7 §
LGP & FR 11

ST UL B UgHR 1 IS 9F a1 W= $T Ik qarsy|
WH: 39 Bidar d wga faafiamr e &1 Fm o g2
1. S g

2. X g

3. O BT

4. UGA g

Correct Answer :-

. S

28) &1 ®T Wik auf &1 w1}, el &1 AR g

HET TR BT SThY g¥ R & ur b ge=m

ISl At BT Gl PI DIl dP A IS

@l Pt avg faerelt o1 fa=mai § wev o

3 quf & 3G T foree! wror & wWR

St 9T P AT ATHAT § IIGA I HORR

I T IEHY, UReA TRPR o B Faemar @

St UTit a9 WR Y G o faatirarar 8

3R 3T & Ugd §a9 & UUH 39 &0T &

TG FALR TSP 1A &, PTG & 7 §

T ISP &FHT B T

ST Ui B UgH 9 IR WF a1 U= $T Ik qargu|
U=q: gfe 3uTe & ygd fod wifererd A siftre frar arg ot @Y @1 w37 a1fee?
1. PTG ! JgT1 ANy

2. BTG & TR H &1d B A1

3. PIfCICTd J & HIT o A1fg Tl

4. B ol A1 dlBU|

Correct Answer :-

- DG Y &H1 A A1 =MMe Y|




29) T F1WR aui Bt T, TSI F1 AR wg
Pl TR BT TH g7 R & 97 fibe us
IASl TG BT Gl I BTl dP A 6T
@l Pt a¥e faerelt o1 fa=mai d wav o

3 quf & 3R T forees wror & wWR

il 1% B ARG ATl § ATGd g9 PORK

Sit 4@ EPR, URel TR o B fyarar @
St UTi 99 WR MY T o faatirarar 8

3R TG & Ug fGad & UUH 39 &0r §

IE AR SIS 37T §, PG S 7A A

T AP &1 B AT

ST UL B UgH 1 IS 9F a1d U= $T Ik qarsy|
1. Ger el deb

2. f IR ah

3. il &1 Bt b

4. JUE dP

Correct Answer :-

« Wl B BIA TB

30) B4T P Wk quf B 1S, S| BT IR T80
HET TR BT SThY g¥ R & ur b ve=m
UG A BT Wl BT B P AT ST
@l Pt avg faerelt o1 fa=mai & wer o

3 quf & 3FRE T fore! wror & Wi

St 9Tda® P ARG ATHAT § IIGH I HORR

S @ EHR, YR TR o DI farar g
St UTi a9 OR 3Y ET o faatirarar 8

3R 3TV & Uge Gy & UUH 39 &0T &
01 FALR AT 1T &, PIfererd & 7 7

T ISP &FHT B AT

ST Ui Bl UgH 19 TR WH 1 U= BT Ik qargu|



U=H: UG ® o SR} @1 §91 & 1Y 99l gidl 8 of &1 R 1 82

1. 31

2. Uelg

3. 3RA

4. Fre-STTS

Correct Answer :-

Topic:- General Urdu(L2GU)

1)

I,..f
S K oL

i C s K T20. It

o

1.
7
, “

I
— G

4. -

Correct Answer :-

A



3

Correct Answer :-

QAo m2#

2.

5 ssls
U

4.

Correct Answer :-

VIl



5)

b s
L_F}J;ﬁ.:/r)/{_,f&;;:f-fu’?

g
L
.

Correct Answer :-



| (e
i
2 ¥

JG

3.
. 7

Correct Answer :-

:f_.dfrchlLETi.r‘:.:_,ufl
2,

%dfr:fﬁ'll-ETLu“uﬂq
3,

:f_.dx[/:fFLLETLufli.lf‘:
a,

Correct Answer :-

9)
0174 b Lujbﬁ{;f’g
N

1,
s

3. el

b

Correct Answer :-



s

4,
Correct Answer :-

A

12

) . oo
el S LU TR

4

1.



2.
r‘uﬁ-‘"
3,
Y
4.

Correct Answer :-

I
6



A
4 %/

Correct Answer :-

ST

1.
A
, YV
AV w
f
3.

Ll
16) el ~
rf:_.:,c,ft*a{,a{,g'*;;)]ﬂb/u’ Luﬁjﬂj'&r;;
i
1.
v
2.
O
3, <
.‘LqT
4,



17) B
r:_...:.»lijdbf EaL T4 b

. 1945
1913
1950
, 1927

Correct Answer :-

1927

b
19) - o
r"_....ég;“”ur,_f ‘Ju*;;b.ﬁ’
1. =
Sae
2.
w2y



#~

4.

Correct Answer :-

4. -

Correct Answer :-

..:.»JL;(

21 - -y - - by
) u_?L.Lf.J_.hf:,c.;f_f."L,fjﬁ ..7.:)'(

527
1.
Gy

w2y
3.

e
;I}flﬂﬂl,{l
4,

Correct Answer :-
e
A7 le'Jﬁl Y



RS =R U Ry

N S e
kg
3. d ¢
4 =
Correct Answer :-
S i
2 & g aAd
A
1.
2}
2. W
¢

3.
e s

Correct Answer :-

iy

24 -
) ,«:_,,L{ bl s

pr&FlLETLL‘,”Lf:
1.

Lc,flpr.;'fﬁ'll».«j_.r‘:ET
2.



Lc,fli.lf‘:pf:fﬁ'lluET
3.

ETJ&EILL(‘?LL;JI
a,

Correct Answer :-
J.,:_, FUE Tl A

o
4. £l

Correct Answer :-

yod



. b

Correct Answer :-

] J!f Kb

29) ™ ba ﬁi
%&bjdbﬁﬁj;;‘ﬂl

1945

1936
. 1950



. 1913
Correct Answer :-

1936

|

, sl
Je

3.

. ..:.dLiJ/

Topic:- Social Science (SSC)

1) Which among the following is the driest desert on Earth? / fRafifad # & 19 91 7t R W@
35 IR B2

1. Kalahari / Eb‘ITﬂ'e!ﬁ

2. Tabernas Desert / REEGIR REESIG

3. Atacama / SCIHTHI
4. Gobi / &Y

Correct Answer :-

o Atacama / SICIHTHI



Match the inscriptions with rulers

1. Mandasor Pillar inscription | A. Chandra Gupta
2. Meharauli Pillar inscription | B. Skanda Gupta
3. Bhitari Pillar Inscription C. Pravar Sena II
4. Chamak Copper plate D . Kumargupta [

| e & AT EderE &1 JdT &

1. AGHR Tas Wiere™ | A, =g 7d

2. el Taw e | B. &g Iod

3. faad Taer MHiemer@ | C. 9aX Jer I

4. OTHG SN OIT D. FARICA TAH

1. 1-A, 2-B, 3-C, 4-D
2. 1-D, 2-A, 3-B, 4-C
3. 1-D, 2-B, 3-A, 4-C
4. 1-D, 2-C, 3-B, 4-A
Correct Answer :-

« 1-D, 2-A, 3-B, 4-C

3) FIIs stands for i wan'éen'é Cal TJf Y %I
1. Foreign Institutional Investors / LPT:R"I $%Cnl - $'<\JI'&C'{-(I.

2. Foreign Income Investments / BT ERCl 3@@?

3. Foreign Investors Income / BN mm

4. Foreign Investment Index / BRA 3@@? E@W

Correct Answer :-

» Foreign Institutional Investors / BIRA Q'QEQI'_‘W’I ﬁw

4) The most appropriate criterion that determines the selection of a teaching method is: / LR

ST TGS o T a1 usfa & aa+1 &1 fruffea swar g:
1. The nature of the subject matter / ﬁ'ﬁl'q-aﬁ D Wﬁ[

2. The classroom environment / D &T hT ATATARTT
3. The availability of resources / T T SR/

4, The incompetence of the teacher / fRrere ot sreman



Correct Answer :-

« The nature of the subject matter / ﬁ'ﬁl'q-aﬁ Gl Wﬁf

5) The vesara style in the building of structural temples was developed by: /

TS HieR) & fmfor & IuR Aeh A g1 fasfya 91 8 <t
1. Pallavas / Uedld
2. Chalukyas / dTqqaRd

3. Guptas / T«

4. Mauryas / o

Correct Answer :-

« Chalukyas / DT

6) Development is a and nonstop process at all periods and stages of

human life. / TP AT Siaq & It 9T 3R TR A T 3R AR
ufsar g1

1. uniform / ThJHTH

2. important / W

3. general / HIHIY

4. continuous / Iddd

Correct Answer :-
« continuous / Hdd

7) Students are split into small groups for a specific period of time and are made to discuss a

given issue or topic. This method is known as: / iﬂsﬁﬁwﬁﬁmw 3afer %ﬁfqaﬁ%
el o faunfora faran oimar 8 oiR fod 1 g, a1 fawg R foar-mxf vt s 21 98
TS pgadl g

1. Brainstorming / mﬁw (aqE:ﬁﬁTD

2. Buzz session / 'ﬂ\_ﬂ:f 9 @Wm
3. Symposium / gf=rat

4. Debate / dTe-fdalg

Correct Answer :-

» Buzz session / ﬂ\_rFf a9 (@W@'QFD



8) Panini was the author of / UTFOI % & o @® Q
1. Ashtadhyayi / 3TST&OTI
2. Mahabhasya / HeTHI™]

3. Daskumara Charita / GRIHHR TR

4. Mrichhkatika / J@hichH

Correct Answer :-

. Ashtadhyayi / 3{STETI

9) In projective techniques of personality assessment, behaviour is evaluated. /

feTd Tpe P ISR THNBIH__ deR ST qeuiep (a1 arar g
1. criminal / 3{ORTH

2. conscious / T

3. overt /Y

4. covert / 3THT

Correct Answer :-

« covert / AYhC

10) When was Sikkim created as a full-fledged state of Union of India? / Rifera &1 yRdg

Y & Ui 314 BT goll Hd a1 171 Y12
1. 1985
2.1975
3.1970
4. 1980

Correct Answer :-

e 1975

11) At which point of discussion, does social science differ from pure science? / oal & fHd

fig W, ariTe fasm fags e @ R dar @

1. Degree of complexity / EILNGICIEIE]]

2. Repetition and duplication / W@ﬁ'{ 3R m



3. Validity and reliability / A¢dT 3R fay=adr
4. Exactness of measures for prediction / W?Ff o fore Surdi/amdi &t QQ‘\{!E(‘H

Correct Answer :-

+ Exactness of measures for prediction / W?Ff & forg Iurdi/argl ot E”?%l@(‘ll

12) Aryabhatta and Varahamihira belonged to which age? / 3 HS 3R AR fra
T I gafdd A2

1. Kusana / @YU

2. Harsha / E'Gf

3. Gupta / [t

4. Maurya / arf

Correct Answer :-

+ Gupta /[t

13) Who among the tomar rulers established the fortified city of Lal Kot (Delhi) in 8th

zﬁntury?/sﬁmaﬁﬁm?hww%maﬁz@ﬁ‘b%mwﬁwmﬁ

1. Anangpal / 31FITUTA

2. Lakhan Pal / ¢fd- YTl
3. Tejpal / GELIS]

4. Madan Pal / Ha UTd]

Correct Answer :-

« Anangpal / 3O

14) Who was the powerful woman ruler of Kashmir from 958 to 1003 AD.? / 958 T 1003

SUd] 9P HIHR P Afwrme Afgar g $19 A2
1. Kauravaki / W
2. Prabhawati / THTGd

3. Didda / fagT

4. Rudrama / > &H]I

Correct Answer :-



. Didda/fagT

15) Who coined the word ecology (Okologie)? / RIS (SNHIaTS) WUeg BT MAHR
fea= forar?

1. Robert Whittaker / Ja¢ fagehr
2. Ernst Haeckel / QT\‘E; %‘W
3. Charles Darwin / I STfa-

4. Arthur Tansley / MR T

Correct Answer :-

o Ernst Haeckel / QT\‘% %W

16) Who is the author of Ashtanga samgraha (Summary of the Eight Branches of Medicine)
in Gupta period? / & ®TA § FHT UG (Fafpear &1 3iTe M@ HT IR & AGD
o

1. Vagbhata / dITHg

2. Bhratahari / lld%ﬁ

3. Charaka / dI¥h

4. Susruta / Yd
Correct Answer :-

+ Vagbhata / dTHg

17) Who was given the title of ‘Lakh Baksha’ (donator of hundreds of thousands) in early

:—nlgedieval times? / URAI® HHDTA § 0 &X' (AP S| goIR] BT erdT) $1 IuIfy fpa &
gt?

1. Balban / ddd-
2. Razia / fordl

3. Qutub-uddin Aibak / PIFe - Uddh
4, Firoz Tughlaq / oIt IGED

Correct Answer :-

. Qutub-uddin Aibak / PIE - UadH

18) Between whom was the Battle of Dharmat fought? / UHd BT & o a4 BT YUT?



1. Aurangzeb and Dara Shikoh / RO 3R aRT m

2. Babur and Ibrahim Lodhi / dl&X 3?|T $@III%J-I F‘ﬁ?ﬁ

3. Akbar and Jahangir / 3 dX 3%7 \316T‘n{

4. Akbar and Rajputs / 3{hda} 3R Tlﬁl'q,_\?ﬁ

Correct Answer :-

« Aurangzeb and Dara Shikoh / RO 3R aRT |3I$-|6

19) MOOC:s stands for: / Qﬂ&ﬁéﬁ - &1 ared %:

1. Massive Open Online Courses / Afrg 3o 31T'1¢1I$'1 BRI
2. Massive Open Orientation Courses / A 3= HRTACIA Bl
3. Massive Online Open Courses / Al \’rI:I%Iﬁ'I%:f 394 ﬁﬁﬁ

4. Mobile Open Online Courses / ETEd U ST DRI

Correct Answer :-

« Massive Open Online Courses / Afg sfg= N ERIEREART

20) amendment added a list of Fundamental Duties to the Constitution. /

Wit dfaum § 9iftie sdo 3t T gt sisar g1
1. 424 / 4047
2. 39t / 394
3. 47t 7 4741
4, 44t / 44q]

Correct Answer :-

o 427/ 47q]

21) Erosion by solution is termed as: / faeas GRT UG ol Dl olldl %:
1. Evorsion / ST@oRTcA

2. Cavitation / T[fg 1

3. Abrasion / 3{qaYUl

4, Corrosion / G&RU



Correct Answer :-

« Abrasion / 3Tgyl

22) Ramsar sites are the areas which are to be protected for wetlands. Which one is the first

Ramsar site in India? / IR WA aﬁ%ﬁ%\%ﬂﬁ{&f%mmﬁmm%l YRA &
ST IR A B AT 8?2

1. Loktak Lake / Gilebcllep Sitel
2. Chilka Lake / feIeepT it

3. Vembanad Kol / dT&HTS &I
4, Kolleru Lake / B> sid

Correct Answer :-

« Chilka Lake / f<ieop1 3it@

23) The curriculum principle that allows necessary changes in its content and methods as

per the changing needs and situations is ./ ﬁﬂT uregwH Rrgid %, Ell Scadt
raxgdarsil 3R uRfRUfedt: & AR v fava-avg iR usfoai & smaxas
uf¥ad araT |

1. Principle of integration / L{GhﬁIObQUI ®1 Rigid

2. Principle of flexibility / TTaca ol RIgid
3. Principle of motivation / SFORT &7 Rigid
4. Forward looking principle / amaléial P Rrgid

Correct Answer :-

« Principle of flexibility / TAIcu- T Rigid

24) The teacher’s mental and emotional visualization of classroom activities is: / PE&T

nfausfadt & Rigre $ afe iR U s Fe_ R
1. Year plan/a'ﬁffq@l\_rﬁ[

2. Lesson plan/q'l_o"ZhTﬂTﬂ

3. Unit plan / W’sﬁlﬂﬁl—fﬂ

4, Resource plan / LRICERITEI]

Correct Answer :-

« Lesson plan /Ul BISEN



25) The committee headed by Prof. C.H. Hanumantha Rao (1984) went into the question of
evolving methodology for planning. / i ﬁ@ Eﬂtﬁ 19 & S(LgET arelt
afafe (1984) oo & fore usfar fasfRra s &1 gey |iur wm

1. District Level / forar g
2. Village Level / UTH TR
3. State Level / XIg TR

4. Block Level /WW

Correct Answer :-

« District Level / ToTdT T

26) Which Act drastically redrew the boundaries of states and territories in India,

organizing them along linguistic lines. / e sifafeaw 3 yra # =0y 8k &l &t drrai
DI PTH! §G 0P HH DX [T 3R 37 WINTE v@3if & WY Fafeyd fear

1. States Reorganization Act, 1956 / I GTia- SffTH, 1956

2. States Reordering Act, 1959 / o9 G:3{IhHUT HfeTTH, 1959
3. States Reordering Act, 1963 / o8 J:3shHUI HffgH, 1963

4. States Redrawing Act, 1957 / o9 GA<EH SiffAaH, 1957

Correct Answer :-

« States Reorganization Act, 1956 / 59 JT&- ST, 1956

27) Which among the following is not a criterion for writing Instructional Objective? /

frafafEd 3 @ s e st e & e #18 ards 98 22
1. Specification of the learner / ﬁT&IT?-Ffa'ﬁ ﬁﬁﬂ@?ﬂ

. o~ SN o
2. The nature of the school environment / Td<]TeTd % Hlgldd 7| Ypld

3. The learner performance / TRI&T ff 31 a2
4. Adequacy of instructional objectives / [RERUGEED 3=l Bi g

Correct Answer :-

« The nature of the school environment / fa=ITerd & Iﬂaﬁ 3| Qﬁ

28) Which among the following models of teaching belongs to Social Interaction Family? /

FrafafEa & & Rremor o1 S 91 yfaa Jraire sia: frar aiiar @ Jeafta 22



1. Inquiry Training Model / J&dT& URIGUHIAH

2. Non-directive Teaching Model / SR Rigor ufem
3. Advance Organizer Model / 3R M gfaH=

4. Partnership Learning Model / JTdT e gfad=

Correct Answer :-

« Partnership Learning Model / ST (& faam

29) Which battle was fought between Ahmad Shah Abdali and the Marathas in 1761? / 1761

o 3rgHe TTE Srgrelt 3R ARTS! & SIF HIF-TT G §31T UT?
1. Battle of Tarrain / dRIgd PT Y&

2. Battle of Khanwa / dI-d] [ Y&

3. Battle of Buxur / SRR hl &

4. Third Battle of Panipat / GTIUd T ?‘Fﬂ'q g

Correct Answer :-

« Third Battle of Panipat / U= &1 ?‘Fﬂ’q J&

30) Which Jaina Saint is credited with introducing Jainism in South India? / E'fEI'UT HRd #

o+ o B Y3 HA T 47 fFg S Ta B A1

1. None of the above / dqédrl o3 Gr;lg EE|

2. Sthulabhadra / ¥JAYK

3. Indrabhuti / &Yl
4. Bhadrabahu / H&dlg

Correct Answer :-

« Bhadrabahu / H&dlg

31) Where was the First Jain Council held by Sthulabahu? / Rddlg GIRT YYH SRRV

®g1 gars T3 4
1. Kasi / b1t

2. Vaishali / QR
3. Vallabhi / Jeaiyft

4. Pataliputra / tl'l??ﬂ'gﬁ



Correct Answer :-

« Pataliputra / tl'l??ﬂ'ga

32) How can a social science teacher infuse affective outcomes among students? / IS ED

oy e ol § RIS Ul B A UHIfAT B JPhdl 82

1. Keeping the students intact through lecture method / SURSHTH Jgfd o J1e9H ¥ B Bl
3ffdeet T B

2. Adopting collaborative learning inside and outside the class room / &l ¥ 3R IR TR
IHfed HTTH B 3TATDHR

3. Through story telling method on freedom fighters of social eminence / BIGISEY Qig?n Gl
AT A TR YT I Ugid b q1eqq o

4. Through the teaching of wars and conflicts through ages / g"ﬁ | g:s?r 3R Tusf & fRreor o
A Y

Correct Answer :-

« Adopting collaborative learning inside and outside the class room / D&l & 3R 3R EIRES
AHed HTTH B SOATHR

33) Which Article of the Constitution states that all authorities, civil and judicial, in the territory of
India shall act in aid of the Supreme Court? / Jfay= & foa GF:[%_({ s | Dol Tl % fPURT®
T | At wiftreor, AR SR <R, Sdia <amarad & 9eradl § &1 S

1. 141
2. 134
3. 144

4. 114

Correct Answer :-
o 144

34) Which was the political party formed under the leadership of Kanshi Ram? | BIRIRTH & ﬁﬂﬁ

S

1. Communist Party of India / URA Wﬁ? aref
2. Samajwadi Party / JHTSTare} uref

3. Rashtriya Janata Dal / ?Tg:fq ofqdl cd

4. Bahujan Samaj Party / SgoT- THIST UTC|

Correct Answer :-



« Bahujan Samaj Party / dgol- HHIS aret

35) NABARD stands for ./ ATETS BT Q:Uf g %I

1. National Bank for Agriculture and Rural Development / Tl'g:rq ?ﬁ[ 3R ureior famT o

2. National Bank for Agriculture Reconstruction Development / Trgh ?ﬁf Q_"Iﬁtﬁ'ﬂ'l ICEAREEY

3. National Board of Agronomy and Rural Development / QT@T{ ey 3R mfior faerg &8
4. National Board of Agriculture and Rural Development / QTQTC[ ?&f T Uil fdhre CIE]

Correct Answer :-

« National Bank for Agriculture and Rural Development / ﬂgﬁn Tﬁf 3R yrtor fahT o

36) stated that ‘social sciences carry a responsibility of creating a strong sense of human
values, namely, freedom, trust, mutual respect, and generating in students a critical, moral and
mental energy, making them alert to the social forces that threaten these values’. / o 9T

It & 6 <A R ardta gea, srufq wadsrar, Ry, smuef e 9 Hergg HraAT
ﬁamﬁaﬁ?mﬁwm@fﬁmaﬁ?nﬁmw?mmﬁﬁﬁ@aﬁﬁm%,ﬁ
I 57 YUl Bl Wax | STe- arelt Ao Xfaadl & g Jad sRars

1. National Curriculum Framework NCF (2005) / JT$14 UTG=d] &1 0T THHIUH (2005)
2. Commission on School Education / ¥ ¢l fRr&f 3T
3. Education Commission 1964-66 / TRI&T 3T 1964-66

4. The Curriculum for Ten Year School / &4 Td & Ipdl & fore areasmH

Correct Answer :-

» National Curriculum Framework NCF (2005) / ﬂgﬂn qT&aef &1 TUEl TIUw (2005)

37) is a type of unemployment wherein the workers are searching for new jobs and for a

temporary period they will be unemployed. / TS UPR B CRG IR % foraw =
IE BT B TAT B 32 & 3R TP ST 3afy & I § ISR 34|

1. Frictional unemployment / ST RIS
2. Seasonal unemployment / RS SRISHR]
3. Structural unemployment / ARTATHD RIS

4. Disguised unemployment / U=5d RIS

Correct Answer :-

* Frictional unemployment / YT SRISATR]



is a process that involves the assembling, storage, transportation, packaging and
distribution of different agricultural commodities across the country. / Udh uferar % foraw

=1 W1 # fafirs Py agai & Taioe, YR, uRagH, THRiT 3k faawor wfte g €1
1. Agricultural marketing / ?ﬁ fagum

2. Rural development / PICIUAEERE

3. Agricultural networking / Ep‘iﬁﬁea'%n

4. Rural marketing / grHor faguE

Correct Answer :-

« Agricultural marketing / $T¥ fdqUH

39) Who is the present Chief Economic Advisor to the Ministry of Finance Government of India? /

YRA IXPR & a7 #1649 & T &7 S TaedR HiH 82
1. Raghuram Rajan / XYRTH 1ol
2. Kaushik Basu / ﬁ%aﬁ

3. Krishnamurthy Subramanian / WW
4. Arvind Subramanian / 3Rfdg gHUgA

Correct Answer :-

 Krishnamurthy Subramanian / Ww

40) Who is the present Governor of Reserve Bank of India? / YR od 8 & g 197
D2

1. Urjit Patel /3 Sid ued
2. Duvvuri Subbarao / @q\ﬁ BESINE
3. Raghuram Rajan / XYRTH 1S

4. Shaktikanta Das / QIfadeid Mg

Correct Answer :-
o Shaktikanta Das / Yfddoid g

41) Who first adopted Micro teaching techniques? / J&H fRreor gl 3l Uy foraa
SOATIT?

1. Dwight. W. Allen / dT3¢ S&¢Y, TaiH
2. Dwight Waldo / §dIgC qrest
3. Michael Brown / HIgh d SI13H



4. Stanley John / K S

Correct Answer :-

« Dwight. W. Allen / SaT3¢ &g, T

42) Who is nicknamed as the ‘Milkman of India’? / '"HIRd & U YR BT IUAH f5a Q'QTTITIT %?
1. Swaminathan / ST

2. Sambasivan / TG

3. Verghese Kurien / Fiffer W

4. Hiralal Chaudhari / §RTeTel aeR

Correct Answer :-

» Verghese Kurien / d? ffoT W

43) The concept of five year plans in India was adopted from which country? / HIRd H vadfg

Gro137 Bt YR {6 321 | Sru=rE g oA
1. China / 9

2. England / 3018

3. Soviet Union / Sfdad 9

4. USA / Sad T AR

Correct Answer :-

e Soviet Union / Oifaad 99

44) AMUL stands for ./ 3 (TUHYUS) FTQUi =T g

1. Anand Milk Undertaking Limited / 3{T-& firen sfexcfd fafice

2. Ahmedabad Milk Union Limited / 3{gHaTaTg ffed gfa- fefiice

3. Ahmedabad Milk Undertaking Limited / 3gHGISTG [Hedh 3fexcidh fafiics
4. Anand Milk Union Limited / 3¢ ffiesh Qﬁ'q:f faftes

Correct Answer :-

« Anand Milk Union Limited / 3¢ ffedh g[=a- faftes

45) is an apex Indian governmental body created in 1964 to address

governmental corruption. / Tdh Falsd R IReRL e % S TRHRT YPTER BT
dT e & T 1964 # g9m4m 4T



1. Commission Against Corruption / Y¥TIR & RIeT® T
2. Central Bureau of Investigation / 31T 3+AH01 &GRI

3. Anti-Corruption Bureau / Y¥TdR foueht @@

4, Central Vigilance Commission / W W’[ 3TN

Correct Answer :-

« Central Vigilance Commission / ST Tl ST

46) is the highest court for criminal cases in a district. / T& forad # RIS
ATHE ¥ e 9ed I ATy gl

1. Court of the Sessions Judge / A IR T e

2. Court of the District Judge / FoTaT <araTeli < &1 <uraTad

3. Courts of Magistrates of First Class / YYH guft & HBN%C CARSIRINE

4. Courts of Magistrates of Second Class / fgata goft & ﬂﬁl@fd CRIRINE)

Correct Answer :-

« Court of the Sessions Judge / I3 T BT AT

47) Which of the following intrinsically motivates a learner to learn? / Faff@aTd I F9
3T ¥ fore v fRrendf «1 ggw u d 9Rd Far 82

1. Lots of homework / 3TIfdd® W
2. Rewards / m

3. Easy questions / d¢] Hdlf
4. Interest in the topic / [ao & Bfd

Correct Answer :-

« Interest in the topic / [a%a & ¥

48) Whose birthday is celebrated as ‘International Day of Non-Violence’ by the United

Natio%ns(UN)? | G Y (YEA) ERT fFad FTafe ot 'sieriga s ffaw & & & amn
ST @72

1. Martin Luther King / ATfe @R fa

2. Mahatma Gandhi / HgTHT TTieht

3. Jawaharlal Nehru / STaTgR dTd A8

4. Nelson Mandela /W HedT



Correct Answer :-

« Mahatma Gandhi / HGTET it

49) Annie Besant was a member of . / TR ade &t T il
1. Ghadar Party /thﬁ

2. Prarthana Samaj /EIT%T:IT HHST

3. Arya Samaj / T A

4. Theosophical Society / RAarfhea Agel

Correct Answer :-

« Theosophical Society / M fhrerd TREE

50) Who plays the main role of Guidance Services in School? / faemay # urfe=f= Tarsif Ft
7= YT S fHuTar 82

1. Parent/ HTAT-fOd

2. Social Studies Teacher / FTHTSTH LT RIgH
3. Principal / uremrd

4. Counselor / TRTHRIGTAT

Correct Answer :-

o Counselor/ CI?IIIQiGIaI

51) CANCELLED

What is the SDG (Sustainable Development Goal) rank of India in 2018? / 2018 H HRd &I
THIIol (Tad faeTa @ed) ¥ a1 6t 82

1. 130
2. 124
3. 112
4. 148

Correct Answer :-

o 112

52) CANCELLED



Which of the following country is in the third stage of Demographic transition model? /

fFrufafea & @ o9 91 ¢U Fwifere! WHH Aisd & diay 9301 § 82
1. Kenya/m

2. Bangladesh / STGRI

3. Peru / UF

4. Canada / TSl

Correct Answer :-

e Canada / ®HlsT
53) CANCELLED

Who coined the term Action Research? / TdR[ o (‘ﬁﬂﬂ?‘:ﬁ? Qﬁﬁf) e B T e
P12

1. Stephen M. Corey / T+ T, PRI
2. Bruce Cooper / 8 ®UR

3. Talcott Parsons / m IR

4, Kets de Vries /m SIS

Correct Answer :-

+ Stephen M. Corey / T TH. BRI

54) CANCELLED

The approach of organizing curriculum which is more content centered is known as: /

TSaHH 6! ARG HI1 T DB, &t siftrepizra: fvg-avg Hfaa g, 2 ®el oral 3|
1. Concentric approach / Hobfad ?WUT

2. Topical approach / JH® ef¥eiur

3. Unit approach / ng ?@ﬁm

4. Spiral approach / gita @G%UT

Correct Answer :-

« Unit approach / WI% BHECAL

55) “Roaring forties” are name given to wind in southern hemisphere commonly known as
which of the following wind. / “JRaa a1fera R wifdw)” gfémft mard & o= areht va= &1
T ot A @ < o & 9 fw gar & 9 & S et 82



1. Westerlies / U3 Ud-
2. Trade Wind / TR UaH (¢S fd9)
3. Easterlies /ﬁfq gaq

4. Monsoon Wind / HIY Ud+

Correct Answer :-

o Westerlies / U3 Ud+

56) Sir Thomas Stamford Raffles is known to be a founder of which of the following modern

nations? / UX 4THAY RABIS Yoo oI fHufafad d A foa snyfe Iy o1 dwimus
| STl 32

1. New Zealand / q\—rﬂﬁg

2. Cyprus / HIUY
3. Vatican City / dfem R

4. Singapore / ﬁlTITER
Correct Answer :-

« Singapore / ﬁF'ITﬂT

57) Cyclones or hurricanes do not develop within about 50 N and S of the equator because? /

THATd a1 BT, YHH YT b TIHIT 50 N 3R s & Har fawRya 781 gl € wife:
1. Ocean surface temperature is high / JH% Pl gdg hI dIUHTH 3w aﬁT%I
2. Trade winds converge / YIRS Ud Th 3R @T‘ﬁ %I

3. Pressure gradient is weak / qld YdUId] BHHOIR f-ﬁ?ﬁ%l

4, Coriolis force is very weak / BT THTT dgd HHOIR S\Idl %I

Correct Answer :-

. Coriolis force is very weak / BINSHTIY YT Tgd HHIR Bl 5 |

58) Which of the following rivers does not flow into the Arabian Sea? / FufafRa A +=

At 7t 3RT AR H 71 g5l 82
1. Tungabhadra / QTHST

2. Narmada / -THeT

3. Mandovi / HTUSl



4, Sabarmati / RICEEI

Correct Answer :-

« Tungabhadra / JTTHgT

59) The Vallarpadam Terminal, which is a container trans-shipment facility, launched in
February 2011. It is a part of which among the following ports? / WYadt 2011 § RHURA
a1 a1 gemRueH efifFa, St HeR NdiaRun (@ia-Riude) gfaw 31 a7 Fafafaa
TIda # | fraeT ue fewar g2

1. Cochin Port / B SGITTB

2. Visakhapatnam Port / ﬁﬂm CEREII

3. None of above / dqﬁdd oy d‘;li‘ih:lﬁ

4, Chennai Port/%ﬁﬁfgc SRR

Correct Answer :-

« Cochin Port / B §ETTTB

60) Dendrochronology is the scientific method of dating based on the analysis of patterns of
tree-rings. In a tree from which of the following zones, the analyzing the circles would be

most easy? / 9&-d¢ig (ﬁﬁﬂ)%ﬁﬁ%ﬁ@w%wwwq&mﬂaﬁﬁéﬁvm
%ﬁﬁwﬁaﬂm%lﬁaﬁ@aﬁﬁﬁmaﬁaswqaﬁ,WWﬁnawmm
ST ?

1. Temperate Zones / RIGILYEAREL) (?Tli}‘c’ \_,rh:f)
2. Taiga / |
3. Tropical Rain Forests / $WIGBICaeg auf a=

4. Polar Tundra / ‘i;],_qﬁ'q cgl

Correct Answer :-

« Temperate Zones / i siedy (%‘JIQ‘{ Gh:f)



